
18. a) Exponenciální rovnice a nerovnice 

1. Vyřešte rovnici:
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2. Vyřešte rovnici:
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3. Vyřešte rovnici:
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4. Vyřešte rovnici:
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5. *Vyřešte rovnici: 
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6. *Vyřešte rovnici:


[image: image11.wmf]3

2

2

2

1

2

75

,

0

16

1

4

3

2

4

3

-

-

-

-

=

÷

ø

ö

ç

è

æ

×

-

÷

ø

ö

ç

è

æ

x

x

x

                 

  
      Řešení: 
[image: image12.wmf]ú

û

ù

ê

ë

é

2

3


7. Vyřešte rovnici:


[image: image13.wmf]9

3

3

3

3

2

1

2

-

=

×

-

+

+

x

x

x





        
  Řešení: 
[image: image14.wmf][

]

1

;

2

-

  
8. Vyřešte rovnici:
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9. Vyřešte rovnici:
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10. Vyřešte rovnici:
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11. *Vyřešte nerovnice:
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12. Vyřešte rovnici:
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